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i -AII questions are compulsory

N

This question paper consis&s'of 30 questions divig

Section A contains 6 questions of 1 mark each. Sectio ton—#4,B, CandD. __ __

"B contains 6 questions of 2 marks
each. Section C contains 10 questions of 3 marks eqcy, questions of Z mar. _

Section D contains 8 questi 4
jons 0
marks each iR : g

w

4. There is no overall choice. However an mternal choice
3 marks each and 3 questions of 4 marks each You ha
alternatives in all such questions.

5. Read the questions careﬁ:]]y before attemptmg

has been provided in 4 questions of
ve Lo attempt only one of the

6. Draw a line after every problem and present the paper neatiy and stepwrse :
EE*/"’“1‘1‘1.{,;}1115;!1t the formulae everywhere in the sum.

8. Use of caicu!ator is not perm:ttea'

| SECTION - |
I. Each carries 1 mark:. % | 6 xll = 6M
1. Find the nature of the roots 6x2 + 5x - =0
2. For what valu.e of ‘p”if 2p,- b+10 and 3p+2arein AP?
3. AABC ~ ADEF and their areas be, respectively 6401 and 121cm2 If 201 = |
EF = 15.4cm, find BC. )‘" = g; = —?}— =~%€ Bez,n
4. Findthe Co-ordinates of a point A, where AB is the diamete_r ofa Ci?f_lf‘wh- e
centreis (2,-3)and Bis (1,4) - . =7

=

o hose distance from the
5 F"‘fly- iensih of the tangents drawH from the point, w

' _ e is 7cm.
centre cf a circle js 25¢m and radius of the cir cl

|
. _ .m and centra
6.  Find the area of 3 sector of a circle of radius 28¢

angle 45
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;’ e ."""ﬁf Each carries 2 marks- vy ' :
7 _Find the point on 'thex.— axis Which is equidistant fI'Dm 2 —5] Bt [42, 9)
8 Determme ‘K’, if the points [I( 5) [2 3] and (—

-11) arecollmea: . .
; af;ﬁ. ﬂ.B’" :

isan I Wmngle fight angled at C. Prove that AB?

.' ¥10. Which term of the AP 21 1“1-5 '"'m 817 [s any term havmg zero?’ Justify.
11 Flnd the 20th term from the last term of the AF 3,0, lgf *5‘5“3"‘%
12; The altitude of a rrght trlangle 1S 7cmy- less than its base

1'2{- F'hrll-
__m______

=2a¢2 2 MU

—— "y

ie other two mdes e

. X : t T, — . a
lI. Each carries 3marks: . .. s 10,(3 =30

A motor boat whose speed is 18 km/h in still water takes 1hour more to go

24km upstream than to return downstream to the same spot. Find

the speed
of the stream

14. Hew many terms of the AP_ 9, 17, 25;?~ .. must be taken to gwe a sum of 636?
Seedlieiie g ‘“(Or] Pt =S

' _'_‘_"lf the sum of first 7 terms of an AP.is 49 and that of 17 te

. . rms is 289, find the sum
e ofﬁrst n terms : |

-15z-In thead'ac-entf' Q‘Ezg_r d[l =2 sho th t ~ AT =
e o dlLo (2 show that APQS ~ ATQR

e e BC _ BD
'16. In AABC TG €= 90" ang CD L ABT proveldt T =D

(or) e

AABC s ap obtuse angled tnangle inwhich [48¢ >90%and AD | ¢p ploduced
Prove that AC2 = pp2 4 gc2 + 2 BC.BD
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(4 y) (%, 6) and (3, 5) are the Yertices of 4 parallelogl'am taken in order )
- findxand y 3

18. Prﬂve/f(ﬂlgth of tangentS drawn ﬁ'om an eXternal

1.
pomt toa circle are equa
- 919, Draw a palr of tanq,eptf;»rf“

2 Cle Of rade Sem which are inclined to each other o
an angle 0f 600 A & '

20. ‘Prove that the narallelogram cn'cumscrlhl

4
. Nga Cll‘(:le is a rhombus B SV gy

.._..__.-—...__._.._-—-"‘-" s

A c1rcle touches the sme BC ofa AABC at P and touches AB and A SR o 35S

' AC when produced at Q and R respectlvely as shown in figure.

| Show that AQ == [penmeter ofAABC)

21 Fmd the area of the shaded reglon 1f ABCD is a square

0f51de 25cm and APD and BPC are sem:cm:les L, ; B

e L

D e C

(Or)

‘A 'square OABC is mscrlbed ina quadrant OPBQ, If OA 20cm, Q
ﬁl’ld the area of the shaded Hreoinn

‘U\-\_ c

~mn

—-—

" I 70

—~ ‘ . O
Mﬁ—h R _m_ = —
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~ IV. Each carries 4fnérks- | S‘E-CILQE;D L
23. Two water taps togethercau fil s B

tank <in 9 |
taken 10 hours less thap, the's tih 73 hours. The tap of la, \—«

whlch each tap can se er one to fill the tan Separate
Daratel EP Iv s

L1e time in
i the tank.
_— ‘._" = . 0
“‘T‘he sum cfﬂr* ?""as—of m sq [ f);: B s S O - '
Uar T— S
{5 T4in. At ca i nnh €s'is 468m? If the dlfference of their p perlmeters |

l.‘!
)
3
=
3.
o
v
=t
0]
o
f

=
(5]
(¢
(7]
S
2
5
aq
¥ 09
i
f=
(=
—~t
=
m
<
=
=
@
o
=4
=
1,

25 State and prov_e Thales I‘hpr;rpm qf \» T

T

& that the area ofan Eqmlateral trlangle descrlbed on one su:ie ofa square-;s 5

equal to half the area ofthe eqmlatera] trlangle descnbed on one of its dlagonals

' [Or] : et - 552 7 S
“Dand E are pomts on the sides CA and CB res |

pectlvely of a trrangle ABC r:ght:
angled at C prove that AE2 +BD?= A82 +DE%

= 2T “Find the Co- ordmates of the pomts of trlsectlon of the lme segment Jmnmg‘ 5
(4,-1) and (-2, =3):: _ .
28 Find the area of quadrllateral ABCD formed by the vertlces
A(57)B(4 5]C(1 -6),D(4,5)-
_ (or) . e TR
nﬂ_.blermlne tne 1at1o.m whlch the line 2x + y - 4 0 dmdes the line segrﬁént joining
the pomts A(2,-2) B(3, 7). eh S -

A T T

29, Construct a tl‘langle w1th sides 5cm, 6cm and 7cm and then other mangle whose

_—

Sldes are Z of the correspOndmg sides of the first triangle. eE=T

s

The dldmerp.-.. “f front and rear Wk recls of a tractor are 80cm and 2y I'E'Spectlvely .
ﬁ Find the number of revolution that réar wheel will make in covering a dict e

!-Elll.(..e ln
Which the front wheel makes 1400 revolutions.
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